10.

11.

12.

GEOGRAPHY

‘Present is the key to the past.” This statement is associated with
(a) John Playfare (b) James Hutton (c) Major Powell (d) G.K. Gilbert

What is the maximum depth of outer core of the earth ?
(a) 5150 km (b) 6371 km (¢) 7200 km (d) 8100 km

“Bigger the column, lesser the density, smaller the column, greater the density.” Who is
the contributor of the above statement ?

(a) Sir George Airy (b) Pratt

(c) Heiskanen (d) Hefford and Bovi
Which of the following is an initial landform ?

(a) Volcanic cone (b) Residual mountain
(c) Manadnock (d) Erosional waterfall

Which one of the following terms is not associated with the Plat Tectonic Theory ?
(a)  Subduction (b) Magnetic anomaly
(c¢)  Seafloor spreading (d) Force of buoyancy

Rossby waves are related to :
(a) Tides (b) Jet stream (c) River (d) None of the above

‘Cirque’ is known by different names in different countries. Select the wrong pair showing
the country and the name

(a) Norway — Botan (b) Germany — Karen
(¢) Scotland — Oule (d) France — Cirque
Which is called as dawn of earliest life ?

(a) Proterozoic Era (b) Archaeozoic Era
(c) Meseozoic Era (d) Canozoic Era

The height of the tropopause is maximum in the
(a) Equatorial area (b)  Sub-tropical area
(c) Polar area (d) Mid latitudes area

What is ‘Ooze’ ?

(a) Clay (b) Silt

(c) Terrigenous deposits (d) Pelagic deposits
Which one of the following is not a type of Inversion of Temperature ?
(a) Non-Advectional inversion (b) Advectional inversion
(c) Mechanical inversion (d) Temporal inversion

Which one of the following clouds is known as ‘Thunder Cloud’ ?
(a) Cirro-cumulus clouds (b) Cumulo-nimbus clouds
(c) Cirro-stratus clouds (d) Strato-cumulus clouds
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

Which one of following has the highest albedo ?

(a) Cirrus cloud (b) Cumulonimbus cloud

(¢c) Sand (d) Melting snow

Ice-crystal Theory was propounded by

(a) Bergeron (b) Taylor (c) Boven (d) Arenberg
Which one of the following processes is least important of atmospheric heating ?
(a) Conduction (b) Convection

(c) Latent heat of condensation (d) Terrestrial radiation

Whose origin is Bjerkney’s theory related to ?
(a) Tropical cyclone (b) Airmass
(c) Temperate cyclones (d) Monsoon

The element found abundantly in the sea water is
(a) Sodium sulphate (b) Sodium chloride
(c) Calcium chloride (d) Potassium chloride

Which one of the following is not situated in Uttarakhand ?
(a) Central Building Research Institute

(b) Oil and Natural Gas Corporation

(c) Indian Institute of Petroleum

(d) National Institute of Rural Development

The Ninety-East ridge is situated in the
(a) Pacific Ocean (b) Indian Ocean (c) Atlantic Ocean (d) Arctic Ocean

The rock-form projected towards the sea coast is called

(a) Skerry (b) Jetty (c) Stack (d) Hook

Which one of the following towns of Uttarakhand is not properly matched ?
Town Type Town

(a) Valley town Srinagar

(b) Confluence town Rishikesh

(c) Gateway town Ramnagar

(d) Ridge town Pauri

Who helped to start Uttarakhand Forest Resource Management Project in 2014-15 ?
(a) UNESCO (b) Korea (c) Japan (d) U.S.A.

What is ‘Run of the River Technique’ ?

(a) Water flow of the river

(b) Taking water for hydropower through tunnel and then allow river to flow
(c) River mining policy

(d) Water harvesting

Cloud forests are found in the mountain slopes of
(a) Pyrannes (b) Andes (c) Applacian (d) Appanines
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25. Which of the following types of ecosystem is not based on the source and level of energy ?
(a) Nature-based ecosystem (b) Fuel-based ecosystem
(c) Man-based ecosystem (d) Mixed ecosystem

26. Which of the following trees is not found in temperate coniferous forests ?
(a) Spruce (b) Oak (¢c) Fur (d) Larch

27. Which one of the following nations has extended land by filling the marshy land and
coastal low lands ?
(a) Netherland (b) Germany (c) Norway (d) Sweden

28. In which Indian regions has maximum potential of Geo-thermal energy ?
(a) Himalaya and North East Region
(b)  Gujarat and Rajasthan
(c) Kerala and Karnataka
(d) Tamil Nadu and Odisha

29. Which of the following Hot Spots is not situated in the Western Ghats ?
(a) Nilgiri Hills (b) Silent Valley
(c) Annamalai Hills (d) Sundar Van

30. In which year was the concept of ‘Earth Day’ given by John Macconale ?
(a) 1959 (b) 1969 (c) 1971 (d) 1970

31. ‘Himalaya Day’ is celebrated on
(@) 9™ July (b) 8™ August (c) 9™ September (d) 10™ September

32. In which year was the ‘National Wasteland Development Board established ?
(a) 1985 (b) 1988 (c) 1990 (d) 1992

33. Which of the following factors is more responsible for the environmental problems ?
(a) Heavy growth in population
(b) Development of industries
(c) Uncontrolled use of surface water
(d) Decline in the productivity of agricultural land

34. Which one of the following natural disasters impacts the most in India ?
(a) Flood and drought
(b) Change in the course of rivers
(c) Hailstorm and snowfall
(d) Coastal cyclones

35. Which one of the following coastal rivers has polluted its water most ?
(a) Tapti (b) Mandavi (c) Periyar (d) Narmada

36. Which nation totally depends on the geo-thermal energy ?
(a) Australia (b) Brazil (c) Argentina (d) New Zealand

37. The ecosystem is based on which principle ?
(a) Exchange (b) Distribution (c) Mobility (d) Stability
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38.

39.

40.

41.

42.

43.

44.

Who propounded the concept of ‘Geographical Pivot of History’ ?
(a) Mackinder (b) Martonee (c) Hartshorne (d) Demangeon

Match the following :

A.  Terrestrial Unity G. Taylor

1
B.  Possibilism 2. Ratzel
C. Neo-determinism 3.  Blache
D. Probabilism 4 O.H.K. Spate
Code :
A B C D
(a 2 3 4 1
(b)) 2 3 1 4
(c) 4 2 1 4
d 3 3 2 1
Who informed first about the elliptical path of planets ?
(a) Galileo (b) Kepler (c) Newton (d) Copernicus
Who has used the word ‘Geopacifics’ ?
(a) Hartshorne (b) Griffith Taylor (c¢) Mackinder (d) Huntington
Read the following statements and select the correct answer from the code :
Assertion (A) : Population Geography and Social Geography have many common
grounds.

Reason (R) ¢ Main focus of Social Geography is on social organisations and it does
not follow chorological approach.

Code :

(a) Both (A) and (R) are correct and (R), explains (A).

(b) Both (A) and (R) are correct but (R) does not explain (A).

(¢) (A)is correct but (R) is false.

(d) (A)is false but (R) is true.

Who was the first geographer who told that “maximum temperature is not found in
equatorial belt rather in tropical hot desert” ?
(a) Herodotus (b) Varenius (c) Kant (d) Koppen

Match the following and select the correct answer from the code :
A. Cosmographia Universalis 1. Humboldt

B.  Cosmographicus liber 2. Eratosthenes
C. Measurement of earth’s dimensions 3.  Munster
D. Cosmos 4.  Apian
Code :
A B C D
(a) 4 3 1 2
b 3 4 2 1
c) 2 3 4 1
@ 3 4 1 2
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45.

46.

47.

48.

49.

50.

S1.

52.

53.

54.

The book ‘Influences of Geographic Environment (1911)’ is written by
(a) Sauer,C.O. (b) Rostow, W.W. (¢) Smith, D.W. (d) Semple, E.C.

The book ‘Socio-economic Models in Geography’ is written by
(a) Chorley and Hagget (b) Dudly Stamp
(c) H.J. Mackinder (d) A.R. Vocikov

The ‘Heartland Theory’ explains

(a) Centre-State relationships

(b) Struggle between land power and sea power
(c) Inter-province relationship

(d) None of the above

Who is the propounder of ‘Interaction Hypothesis’ ?
(a) F.Perraux (b) Newton (¢c) S.C.Dodd (d) P.Hagget

Match the following and select correct answer from the code :
A. 1580-1622 1 Hettner

B. 1769-1859 2.  Cluverinus
C. 1844-1904 3. Humboldt
D. 1859-1941 4. Ratzel
Code :
A B C D
(a 4 3 2 1
(b)y 3 4 2 1
(c) 2 3 4 1
da 2 4 3 1
Who was the first to introduce the idea of ‘Paradigms’ in the study of geography ?
(a) S. Thomas Kuhn (b) Peter Hagget
(¢) Richard Chorley (d) B.J.L. Berry

Which of the following is not included in the resource classification presented by
Zimberman ?

(a) Unused (b) Unusable (c) Potential (d) Non-increasable
Who put forth the concept of Quaternary and Quinary production in Economic Geography ?
(a) D.M. Smith (b) Jean Gottman

(c) Jones and Darkenwald (d) Gunnar Myrdal

Which of the following was not included by D.Whitelessey as basis for delineating
agricultural regions of the world in 1936 ?

(a) Crop production and livestock relationship

(b) Method of agricultural production

(c) Labour and Capital investment per ha.

(d) Land ownership

Name the scholar who put forth and explained the stages of economic growth.
(@) Gunnar Myrdal (b) A.O. Hirschman
(c) F.Perraux (d) W.W.Rostow
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SS.

56.

57.

58.

59.

60.

61.

62.

63.

64.

Which of the following pairs is not correctly matched ?
(a) Livestock rearing — Argentina

(b) Commercial dairy farming — Netherland

(c) Commercial plantation tillage — Malaysia

(d) Mediterranean agriculture — Sudan

Who among the following scholars was the supporter of the principle of the least cost for
location of industries ?
(a) A.Losch (b) Greenhut (c) Alfred Weber (d) A.Loria

Who among the following presented 3 ‘life’ regions and 2 ‘death’ regions in his approach
of agricultural regionalization ?

(a) J.E. Spencer and R.J. Howarth (b) O. Jonasson

(c) N. Helburn (d) O.E. Baker

Which of the following is not the approach for the study of Economic Geography ?
(a) Systematic approach (b) Regional approach

(¢) Theoretical approach (d) Inter-regional approach

Which one of the following cities is known as ‘Port of 5 Seas’ ?
(a) Istanbul (b) Tokyo (c) Moscow (d) Rotterdam

Bosphorus Rail Tunnel which was inaugurated on 29™ October, 2013, is located in which
of the following countries ?

(a) France (b) Japan (¢) Sweden (d) Turkey
Which one of the following is a Coral Island ?

(a) Andaman and Nicobar (b) Maldives

(c) Lakshadweep (d) Medagascar

How many rings are found in the Von Thunen model of agricultural location theory ?
(a 8 by 7 () 5 d 6

Which one of the following models is based on ‘Least Cost Location Theory’ ?
(a) Isard’s Theory of Substitution Analysis

(b)  August Losch’s Theory of Market Area

(c) Weber’s Theory of Industrial Location

(d) None of the above

Consider the given two statements and give the correct answer from the given code :
Assertion (A) : The concept of resource is a dynamic concept.

Reason (R) : Knowledge adds to the dynaminism of resource.

Code :

(a) Both (A) and (R) are correct and (R) explains (A).

(b) Both (A) and (R) are correct but (R) does not explains (A).

(¢) (A)is correct but (R) is false.

(d) (A)is false but (R) is correct.
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65.

66.

67.

68.

69.

70.

71.

72.

Consider the following two statements and give the correct answer from the given code :
Assertion (A) : The people who depend upon tropical crops suffer from malnutrition.
Reason (R) : The tropical crops are rich in carbohydrate.

Code :

(a) Both (A) and (R) are correct and (R) explains (A).

(b) Both (A) and (R) are correct but (R) does not explain (A).

(¢) (A)is correct but (R) is false.

(d) (A)is false but (R) is correct.

The broken hills famous for Zinc and Lead are located in
(a) France (b) Australia (c) Germany (d) Turkey

According to area, which one of the following is largest National Park in Uttarakhand
State ?

(a) Rajaji National Park (b)  Gangotri National Park
(c) Nandadevi National Park (d) Govind National Park
River Irrawadi drains into the

(a)  Gulf of Martaban (b)  Gulf of Tonkin

(¢) Gulf of Thailand (d) Celebes Sea

As per United Nation’s data, what percentage of world’s population will live in urban
settlements in 2030 ?

(a) 65% (b) 62% (c) 58% d 60%

Which of the following was the 4 largest city of the world in 2016 ?
(a) Mumbai (b)  Shanghai (c) Saopaulo (d) Mexico

Which of the following presents the correct population size sequence (in decreasing order)
of the four largest cities of the world in 2016 ?

(a) Tokyo, Delhi, Shanghai, Mumbai

(b) Tokyo, Shanghai, Delhi, Mumbai

(c) Tokyo, Delhi, Mumbai, Shanghai

(d) Delhi, Mumbai, Tokyo, Shanghai

Match List — I with List — IT and select the correct answer from the given code :

List -1 List - II

A. Population Geography 1 R.D. Dikshit
B. Land use Studies 2. R.L. Singh
C. Settlement Geography 3. M. Shafi
D. Political Geography 4 M.K. Premi
Code

A B C D
(a 4 3 2 1
(b) 3 4 1 2
c) 2 1 4 3
da 1 2 3 4
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65.

66.

67.

68.

69.

70.

71.

72.

frfefaa a1 shemi W fomm Shifse 7T fod T %e @ e S| G

FHI (A) ;W) oafer Iwrehteae wEell W it d B, Suive 4 ufia wa € |
T (R) : IWThICEHT BH HIETEESe U 91 Bl 2 |
%o

() (A)TUT(R) SH1 &l & 30 (R), (A) hl ST HLAT B |

(b) (A)TT (R) THI T& &, o (R), (A) <l =TT & LT 7 |
© (A)FER, fFgR) AR |

d) (AT g, fhg (R) W& E |

ST TE e o fore wfeg s feew e g

(a) W (b) IEfAH (c) EAH (d) <hid
SA%eT o MR W F=feifad § & STREUE ST 1 iH T Tod o1 UE ITH R ?
(a) TSI A3ES qTeh (b) AT AIEA UTeh

(c) T=gTed! J¥Me UTeh (d) i< e ah

EEHE RTINS

(a) FdeH < @rer | (b) AR T T

(c) YTgeivg i @t H (d) oS R H

T Y o AThsl o AR 2030 H Torva sren w1 feran gfdwra TR stfeamai o fam
T 2

(@) 65% b) 62% (©) 58% d 60%
fr=fafaa 9 9 19 2016 3§ farga =1 <ien 9@ SR AT ?
(a) Y3 (b) wETE (c) HIdIel (d) Tfegen

frfefiaa § & 2016 ¥ fava & 91 gea@ TR & T S TFA (I A H) i JeiRid
HAT 8 ?

(a) <ifepar, feeedl, wrems, ged (b)  ifepa, wrer, feeedl, g
(c) e, feoeft, e, wromé (d) feeeft, gee, Sifchan, woms
T — [ T — 118 gufera shifsr qen fou T e & gt s g
et -1 g - 11
A, SHEEI P 1. e dfea
B. ¥ 3T SAH 2. I.UA. g
C. Afas 3. TH. WH
D. TSHITde e 4. WA, Yt
%< :
A B C D
@ 4 3 2 1
b 3 4 1 2
© 2 1 4 3
@ 1 2 3 4
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

The term ‘Urban Fringe’ was first used in 1937 by
(@) O.D.Dunkan (b) T.LynnSmith (c) H. Tisdale (d) A.N.Clark

The gradual change in the nature of population growth occurring over a long period of
time is known as

(a) Population explosion (b) Demographic transition

(c) Demographic dynamics (d) Fertility transition

As per 2011 Census, which of the following states had the smallest gap between male and
female literacy rate ?

(a) Mizoram (b) Kerala (c) Nagaland (d) Meghalaya
Milan, the chief centre of silk industry, is located in which country ?
(a) Great Britain (b) Italy (c) France (d) Japan
Match List — I with List — IT and select the correct answer using the code given below :

List -1 List - 11

(Islands) (Territories of)

A. Azores 1.  United Kingdom
B. Bermula 2. France
C. Canary 3.  Portugal
D. Reunion 4. Spain
Code :

A B C D
(@ 3 4 1 2
by 2 4 4 3
c) 2 4 1 3
d 3 1 4 2
“Three story agriculture’ is practised in
(a) India (b) Pakistan (c) Bangladesh (d) SriLanka
Dokalam is located at the trijunction of
(a) Nepal — China — India (b) Pakistan — India — China
(c) Myanmar — China — India (d) Bhutan — China — India

Which one of the following states does not have any scheduled caste population ?
(@) Puducherry (b) Lakshadweep (c¢) Manipur (d) Tripura

The Shyama Prasad Mukharjee’s ‘RURBAN’ mission primarily focusses on the
development of

(a) Trade (b) Women security

(c) Employment generation (d) Infrastructure

The ‘Niti Aayog’ follows the approach of

(a) Gandhian approach (b) Sustainable approach
(c) Holistic approach (d) Capitalistic approach

What were the bases of agro-climatic regionalization proposed by the Planning
Commission of India ?

(a) Relief, Soil and Cropped area

(b) Rainfall, Temperature and Cropped area

(c) Vegetation, Soil and Rainfall

(d) Relief, Temperature and Rainfall
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73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

TR ITT=d’ I1eC hT T Y| S 1937 § fopam 1m -

(a) 3N SHA g (b) &. fom faru g
() ua. feeagm (d) U.TA. FTh gRI
SHEEA Jfg % TWEY T Teh G hroqard § gfed shiteh THaaH i el STl & -
(a) e fowmie (b)  SHITREhIT HsHHTT
(c)  SHTfeheh!T TTeTeHehdT (d) ST GERAT
2011 6 ST % AR Freforiad T # forem 7oy Tel Afgel Tnerar ot § =[iaq 3w o7 2
(a) Toeim (b) HA (c) ATTATS (d) TETE
oo, v et SEm o, frm ew H fdra g 2
(a) e fores (b) et (c) T (d) <=
Tt — 11 =t — 11§ gafaa Hifse qen = fow 7 e 1 7= i g ag SR/ g
el -1 g - 11
(&) (Hrr=a)
A, IERE 1. Irses fehmren
B. Sl 2. W™
C. 3. gdmd
D. fgfem 4 A
%<
A B C D
@ 3 4 1 2
b 2 4 4 3
© 2 4 1 3
@ 3 1 4 2
Freata v yafaa @ -
(a) YRAH ORRUESSIER (c) SIARNH ) sfigerd
grehe Frge w sraferd B
(a) 9T — = — R i (b) UITREAM — WA — =4 i
(c) WIMR —<H — WA (d) YeH —FH - wRa H
frfetiaa o @ fora s o St i 6t Seen T2 2 2
(a) g (b) T (c) wofig ) P

TATHTIHETE J&st <1 W e gea: formes fopm manfza 2 7
(a) SIARW (b) WEA AR (c) TFMIHEW  (d) IURA a1 T
fifer SR STTET AT & -

(a) TIERTET SUTH T (b) Hdd IUTTH

(c) VUl 3T 1 (d) dSfiardt 3am

YT o IS ST G TEATerd iy SIerary TTeental o JTUR &1 9 2

(a) IS, eI Ud Hia & (b) T, ATISHY T B &
(c) aEfd, a1 e 9 (d) =T, ITUSHA Td 991
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84.

8s.

86.

87.

88.

89.

90.

91.

Which one of the following was the earliest regional planning exercise in India ?
(a) National Capital Region Plan

(b) Dandakaranya Area Plan

(c) Damodar Valley Project

(d) Bhakhara-Nangal Project

Regional imbalance in economic development is largely due to
(a) Lack of education (b) Lack of resource utilization
(c) Lack of population (d) Lack of demand

Consider the following statements and select the correct answer from the code given
below :

Assertion (A) : In Himalaya, different forest belts lie within the particular altitudes.
Reason (R) : Himalaya has different types of forests due to climatic variations.

Code :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(¢) (A)is true but (R) is false.

(d) (A)is false but (R) is true.

According to the length of the following rivers, which one is in correct descending order ?
(a) Yamuna — Godawari — Krishna — Kaveri
(b) Godawari — Krishna — Yamuna — Kaveri
(c) Godawari — Krishna — Kaveri — Yamuna
(d) Godawari — Yamuna — Krishna — Kaveri

‘Kaiga Atomic Power Station’ is located in the state of
(a) Karnataka (b) Tamil Nadu (c) Maharashtra (d) Gujarat

Select the correct South to North sequence of following Himalayan Faults/Thrusts :
(a) Trans-Himalayan Thrust, Main Central Thrust, Himalayan Front Fault

(b) Himalayan Front Fault, Main Boundary Thrust, Main Central Thrust

(c) Main Central Thrust, Main Boundary Thrust, Trans-Himalayan Thrust

(d) Main Boundary Thrust, Himalayan Front Fault, Trans-Himalayan Thrust

Select the correct east to west sequence of the following rivers of Uttarakhand state :
(a) Kali, Kosi, Nayar, Tons

(b) Bhagirathi, Yamuna, Saryu, Goriganga

(c) Alaknanda, Mandakini, Pindar, Dhauli (West)

(d) Ramganga (West), Nayar, Nandakini, Pindar

According to 2011 Census, which of the following Union Territories of India has the
highest population density ?

(a) Andaman and Nicobar Islands

(b) Daman and Diu

(c) Dadra Nagar Haveli

(d) Lakshadweep
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84. T4 9 I Tk TR JoHT WG ° IRfRTes T=TE o1 2

(a) THF T & o (b) TUSHITT & FISHT
(c) TG aTel uiSH (d) HEET-TTe qESHT
85. 3TIIeh forehrd H &rfl STge ol & R0 & -
(a) TRrem =t v (b) TETEH SUAN T TS
(c) STTEREAT T 31T (d) =T AT
86. T el W fomam Hifvw aur = fet T e | T I
U (A) . Temrer o fow Samsat & st=ia faftr= s-afei fem 2
6 (R) : Sorary fermanati & SRt feurerd # fafir= yehr & o7 ur 9md § |
%.

(a) (A)TUT(R) THI T&l &, (R), (A) I TE TEHRT 2 |

(b) (A) TN (R) GHI H& &, T (R), (A) T TEI ST 21 2 |
© (A)FER, fFgR)TEqR |

(d) (A)TEd g, g (R) TR |

87. T afean it oraTg 6 STUR S T TaIE A 8 2
(a) AT — TR — oM — ShTat
(b)  TGTERY — ST — FHAT — IR
(c) TIGTERY — TSI — T — JGHT
(d) TTIETERT — JHAT — FHE — hralt

88. ST YRHTY Tk Shrg’ STAFRIA R
(a) HFARCHTTY (b) THHGUTH (c) FENETAT () TG TSI A

89. Trferiaa femmerh gsii @1 gferor & Ior 1 3R @) shm gi
(a) rE-Tenrerh y=1, ged e w1, fenrerh 3w =
(b) Temmert s v, e Hi v, g hE
(c) =T hd U, T&I w1 91, ore-Teurerht uur
(d) T=a o g1, Teamerh 3w yw, o - feuTerdt uur

90. TGS T i Ffetiaa Ffeai =1 qd & ufeaw it 31K 98 79 g
(a) hTelt, HIET, TR, T
(b)  WTReft, AT, Ty, TR
(c) IAcTh=r, HaTiehl, fouey, et (ufyamt)
(d) T (ufvEet), TR, T, et

91. 2011 3 SITUET o FATAR e § | fohdt TR T TS | SIHEAT 1 ST(Uehad ocd & 2
(a) 37eAH wd frepiem £ g (b) TS
(c) TE TR gaeht (d) <egH
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92.

93.

9.

9s.

96.

97.

98.

99.

100.

World Weather Watch (W.W.W.) programme is concerned with the forecasting of

(a) Temperature and Rainfall (b) Floods and Droughts

(c) Both of the above (a and b) (d) None of the above

The land use pattern of Uttarakhand state can be best represented by

(a) Line graph  (b) Bar graph (c) Pie diagram (d) Star diagram
The mean deviation is least when deviations are measured from

(a) Mean (b) Median (c) Mode (d) None of the above
Ogive curve can be helpful in graphically locating

(a) Mean (b) Median (c) Mode (d) All of the above
Steep slope in a map can be represented by

(a) Close spacing of contours (b) Sparse spacing of contours

(c) Bisecting the contours (d) None of the above

Match List — I with List — I and select the correct answer from the given code :

List -1 List - II
(Projection) (Suitability)

A. Cylindrical equal area 1.  For making sailing chart

B. Mercator’s 2.  For fixing correct shape and
relative areas

C. Polyconic 3.  For showing continents of South
America or Africa

D. Bonne’s 4.  For showing distributional patterns,
specially tropical and sub-tropical
crops

Code :

A B C D

(a) 4 1 2 3

(b) 3 2 1 4

() 2 3 3 2

@ 1 4 4 1

Out of the following, which one is not the example of polar orbiting satellite series ?
(a) IRS (b) LANDSAT (c) SPOT (d) INSAT

Which element of photo interpretation is most useful for identifying tall building in an
aerial photograph ?
(a) Size (b)  Shape (c) Shadow (d) Pattern

Which electro-magnetic radiation band is best suited for studying vegetation types ?
(a) Infra-red (b) Radar (c) Microwave (d) Ultraviolet
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92. IoE I AT (S0, S5, 89, ) HIIsHH T4 HoT § TFaf-d & -
(a) TTO3RA T NI 9 (b) wGUEgETH
(c) U Sl H ((a) 3T (b)) (d) I9UH | T i TEI

93. ITEUE T o Yl 3T W&y 1 Haiay T foham ST Teha & -
(a) WEEAE  (b) <SR@gM (c) UESINE@EN  (d) R ARG g’

94, HI fIFe =TaH T ST6 f=eri bl [T ST -

(a) WY (b) wIfEIHTH (c) WgAHH (d) ST T G His T&l
95, QU (TS osh WETraea e 3 geres @
(a) WD (b) TIfEIRT (c) WEAHb (d) I Tt &%
96. ST TcT <! AT | Teiid foham ST Hehal 8
(a) TH @13T 6l Fepear @ (b) —EH= @3t hI gl @
(c) TH TGI3T o heH & (d) YU | T his A&l
97. T — 13! T — [1§ T Hife 7o fed T e 9 a6 ST e
el -1 et - 11
(&) (TFhd1)
A, THRASOETHRR 1. T 96 s o oy
B. W& 2. el 3R Td Hruferd &het o fFufor J
C. WgEEhR 3. cfeufl STHTERT HRTET 3TeraT 3T5hIehT bl e+ o foTu
D. &N 4. foaor yfaedl fasiva: sswrefeafiy qur 3qmwr-
Hicarefia BHe! i g > fow
%<
A B C D
@ 4 1 2 3
® 3 2 1 4
© 2 3 3 2
@ 1 4 4 1
98. =T # & M U YT UTGHT TR ST T I T B 2
(a) JFEHANTE. (b) TUSH (c) e d) 3
99, 41 4 | S TS SRR dcd Sl Ul ol Tafgd s o forw arfa suge 8 2
(a) WM (b) IR (c) WS (d) vfaEa
100. 1 i gl -Rafeen fafeor ugh ameate wre % e % fore Suge 8 2
(a) IHI-1E (31aTH)(b) TR (c) HTEshIad (d) TS
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